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PREFACE

The busy teacher of high-school algebra often finds that
lLimitations of time forbid the aectual working out of all the
exercises and problems in a text. This teachers’ edition is
designed to meet such a condition. In its plan it is brief and
schematic rather than complete and detailed. Less time should
be required to prepare a lesson from this outline than from a
text giving the solutions in full

For thoss exercises involving tot nore than one process in
their solution the anewers only are given. If two or more pro-
cesses are required in a solotion, an ountline iz given which
sovers each step of the work. Moreover, after each indicated
step of the work, the result obtained by taking that step is
s¢t down. This scheme affords an easy method of tracing a

In the solution of problems the meaning of each letter rep-
resenting an unknown is clearly stated, the equations repre-
senting the conditions of the problems in terms of these letters
are given, and the schematic solution of the equation or system
always follows,

The authors and publishers desire the cobperation of teachers
and sehool anthorities in limiting the cireulation of this book to
actual teachers of algebra.
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1L 45 + 3m = 4 (3800} + 3 (60) = 14,580 saconds.
2. by +4f=>5(38) + 4(12) = 328 Inches.
3 4g+ 64 =4(26) 4 6(10} = 160 centa.
4. ¢ + 8k = &{2000) + 6(100) = 8000 pounds.

b Bz+bz=8zx 1. 8z -3+ 18— Gz =3z + 16
B dx+ Az =¥z 18, dw—F 4 dw4 80 =Tw+ 18
L9+ 8z 4+ B8z=11g 4 y+bm=1Tm.
8. %243+ 324+4d=56z+8 16. 2y + 7/ =137

x4z 8 424848 =4244 18 4¢+3n=23n
Wntntlintdi=8n4+3 17 2d+16A=05h

H.bg 4+ 18— 3 —T=2a411. I8, 164 4 0w = 850 m.

18 Area, 5.5-1 equare Inch — 256 square inches; perimeter, 4 -6
inchas = 20 mches.

20. Perimeter, 45 inches; ares, # - % square inches,

8l. Area, 12 .4 .1 square foot = 48 square feet; perlmeter, 2- 12 foet
+ 2.4 foat = 32 feet.

23. Ares, ab square fest ; perimetar, 2 a fect + 3 feet = (2a + 25) fest.
2. (g) 2z inches; (b)2-z 4 2.2z =4Oz inches; (¢} 2z % sqnare inches.
M By year.

%. (30 + y) yoars.

8. Length, (12 4 w) feet; perimeter, w tw+ 12+ w4+ 12+ w=
(24 + 410} foet.

2T, Length, (18 + w) feet; porimeter, w+w+ 1B+ w4 184w =

{38 4 4 ) foot.
2. Let w feal = the width.
Thap 2w + 4 fest = the length,
snd the perimeter = w + 1w 4+ 2w 4+ 4 4+ 2w + 4,
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1. Greater number 4 losa Afmber = 160.
If we represent the lass by f, then 4/ must represent the greater, and
tha above statetnent besomss

414 =180,
‘Whence {=82
and 410 =128,

Therefore the greater number s 128 and the leas iy 83,

2. The nomber 4 five thmes the nombar = 218,
If wa raprasent the number by n, the above statement becomes
6+ 5ba =214,

or fn = 214.

Whance n— 38

8. Greatér number & less number — Ti.

H we represent the less by I, then 77 must repreassnt the grester, and
the ahove statement becomes

Tl+1l=72
Whenoa =9

4, 18t number + 2d number + fd number = 106,
If we lot { reprement the 84 number, 24 must represent the lat number
and 41 the 2d. Then the ahown statement becomas
214 4t & & = 106,

Whonos t=1h
2i=140,
and it = 6,

§. 1st pumber 4 2d number + & number = 117.
If we represent the lst number by #, ¥ » must represent the 24 number
and 6n tha 8d, Then the ahove statement becomes
n+8n4dn =117

‘Whenesa n =13,
2r =24,
and fin=78.

8. let number 4 2d number 4 3d nmmber = 182,
If we reprosent the 24 nomber by #, 2 8 must represent the Iat number
and 3n the 3d. Then the above statement becomes
in4+n+dn= 192
Whence n=0%
Hﬂ:ﬁ‘h
and an =588,
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7. 15t number 4 24 number + 84 number = 324,
T we represent the lat oumber by n, &7 muost represent the 2d number
and 50 the 84. Then the above statement becomos
a4+ bn 4 80 = 824,

‘Whenoe n={
Bn = 45,
and 30 n =270,

B, 1st number 4+ 2d number 4+ 54 nambaer = 1(4.
If we represent the 1st nomber by #, 3n most represent the 24 nomber
and 4n the 8d. Then the sbove statement becomen
R+ dn44dn=1H

Whenca n =18
3n = 30,
and 45 =62,

10. From arithmetio, principal + interest = amount,
Principal + .06 principal = $265.
* If p represents the prineipal, this laat statémant becomas
p 4 .00p = 3856,
Whenea p =260,
Therefors the sum s 260,

11,  Pringipal + .12 prineipal = $700.

If p represents the prineipal, the above statement becomea
P4 .12 = T00.

Whence p = 825,

Therefore the required gom e $525,

18, 226 x .06 . (number of yesrs) = 27.
If we ropresent the number of years by n, this statement becomes

T Sabwx . M-n =27,

ar 18.5n = 27,

Whence n=23.

13. 520 x .086. (number of years) = 168,
If n repregonta the nomber of years, this sintement becomes
520 x 086 - n = 109,

or 53.8n = 164,
Whence n=h.
15. Lat # = the rate of intereat.
Then #8805 z — the interest for one year,

and $3800 2 = the interest for four years.



